Fermat's last theorem: equality fails on last digits
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Abstract:

In equivalent equality, the number A*n+B”*n-C”n ends with the digit 1.

To my wonderful women - grandmother, mother and two wives

Theorem (basic case of the FLT). For a prime power n > 2 and coprime natural
numbers A, B, C that are not multiples of n, the equality

1. A"+B"=C" is impossible.

The simplest properties of Fermat's basic equality and the lemma in the base n.

2. C"=A"+B"=(A+B)R=c"r"; A"=C"-B"=(C-B)P=a"p"; B"'=C"-A"=(C-A)Q=b"q",
where the last digit in A™", B™', C™", P, Q, Ris 1.

3. A’+B"-C"=ABCu ((because the numbers A, B, C are coprime).

4. Lemma. For a positive digit a (or a single-digit number a), there exists a
digit d such that the last digit of the product ad is 7.

Proof of the theorem

Let us multiply the equality 1 by the number (def)”, where d, e, f are taken from the
products Ad, Be, Cf with the last digits 7. Now all three powers on the left side of the
equality 1, like the leftmost part, end in the digit 7. And equality is impossible.

P.S. | hope that | also proved the theorem: “Pierre de Fermat was an honest
scientist!”

PPS. Found the MOST simple proof of the FLT:

after converting all kn-valued endings of e-factors (i.e. factors with 1 at the end; k is the rank
of C) into 1, the remaining factors ALSO form Fermat's equality (on kn-valued powers of
A’n, BAn, C”n), but obviously NOT an integer - because WITHOUT absolutely necessary
e-factors. And consequently, the new (transformed) Fermat's equality, EQUIVALENT to the
original one, will also be NOT integer.

That's ALL the proof!
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Benukaa teopema Pepma:
paBeHCTBO He BbINOMHSAETCA NOo nocneaHum uucgppam

Asmop: Buktop CopokuH

Pe3lome:

B akBuBaneHTHOM paBeHcTBe 4Yncno A*n+B*n-CAn okaHumnBaeTcs Ha undpy

Moum 3amedyamernbHbIM xeHuuHaMm - babyuwike, mame U 08yM xeHam

Teopema (6a3oBbin cnyydan BT®D). [1ns npocTton cteneHn n > 2 n B3aUMHO NPOCTbIX
HaTypanbHbIX Yucen A, B, C, He KpaTHbIX N, PaBEHCTBO
1. A"+B"-C"=0 HeBO3MOXHO.

MpocTenwmne ceoncrBa paBeHcTBa Pepma n nemma B 6ase n.

2. C"=A"+B"=(A+B)R=c"r"; A"=C"-B"=(C-B)P=a"p"; B"=C"-A"=(C-A)Q=b"q",
roe nocneaHasa undpa B uncnax A™', B™', C™', P, Q, R ecTb 1.

3. A"+B"-C"=ABCu (n60 4ncna A, B, C B3aMMHO NpocCTble).

4. [lemma. Ona nonoxuTtensHon umdpbl a (MM 0gHO3HAYHOro Ynucna a)
cyllecTByeT Takas undpa d, 4To nocneaHsasa umdpa npomnsseneHms ad ectb 1.

[oka3aTenbLCTBO TeopemMbl

YMHOXMM paBeHCTBO 1 Ha umcno (def)”, rae d, e, f B3sTbl U3 nponsBeneHnn Ad, Be,
Cf c nocnegHumm umdpamm 1. Tenepb BCe TpU CTENEHN B NEBOM YacTU paBeHCTBa 1,
Kak 1 camas nesasi YacTb, OKaH4YMBaOTCs Ha Lmdpy 7. 1 paBeHCTBO HEBO3MOXHO.

P.S. Hagetocb, uto s gokasan Takke n teopemy: “Ibep Pepma 6bis1 YHECTHBIM
y4€Hbim!”

PPS. HangeHo CAMOE npocTtoe gokasartensctso BTO:

nocre npeobpasoBaHns BCeX kN-3Ha4YHbIX OKOHYaHWI €-COMHOXUTENEN (T.e. COMHOXUTENEN
¢ 1 Ha koHUe; k - paHr yicna C) B 1 octaBwmecs comHoxutenu TAKXKE obpasytoT
paBeHCcTBO Pepma (Ha kn-3HauHbIX cTeneHen A*n, B*n, C*n), Ho 3aBegomo HE uenoe - n6o
BE3 abcontoTHO HeEObXoaNMbIX e-COMHOXUTENen. M cnegosaTtenbHO, HOBOE
(npeobpasoBaHHoe) paBeHcTBO ®epma, SKBUBAJIEHTHOE ncxogHomy, Toxe 6yaoet HE
LLeNTOMUCTIEHHbIM.
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